202558 —ZShPERMSHREARSE HHEHhExR (BF)
| FE —? 2025? 75645 ZE’_) O . 1 55t
=I5 —EBPHSHEE (WSVIESFP—TB)
A 6735
EA1 E3 E2 E4
Mg ToOST BAE_ [E=EH SHERB
ES EG
hEp [iiz] 4
F1 F3 F2 F4
% EBlE= RF0 BAE—
F5 F6
EJ—F (LW5LB) FO—F (LW5LB)
F R B fEES ENE RS
NS/ 25-3 hEp 23-25
1 X 25-6 1 X 25-19
WigTo>7 35 25-13
Jt73 25-21 ARk 25-7
2 X 20-25 2 X 25-20
kel 19-25 A#0
ASI 25-7 oEp 25-14
3 X 25-16 3 X 17-25
EfAE_ EfE= 25-19
Jt7 25-9 PRk 25-20
4 X 25-3 4 X 25-18
SER BiE—
WEBToO>T 17-25 P& 21-25
5 X 18-25 5 X 15-25
=i - Brs=
=E 25-8 KA 17-25
6 X 25-11 6 X 14-25
SEH BiE—

218

XBF—TX>F 2026F75190 (1) O 1 baiible
21 —SPHMSASE (50 EEP)—F)

PR SRBIZIRNTRES

2 0
25-18
o 25-15 ; >
D3 B h
25-20 ] ab
20-25 ]
2 1 2 0 1625 0O 2 =
2 2 D
25-20
25-19 12-25
22-25
E ] P = = A
e 54 il 7 7 il

Bl —EWILARE ) PR
ERE: — BN PER
3L — B WAL EAR AR
ML —EWILEAEE=PFER
E4F— LA BRIRASHIGIERS

IHOME:

—BEHILERPER




20255 —=SHhhERRSHKEARS HHHSHER (ZF)
FE — 2025 756H (H. 9 . 1 5zatEs
Bl —ETHSHEEE (L50EEPU—T)
= 675 i[>
A1 A3 C1 C3 B1 B3
I I I
ErEE— 1638 F MR [ FHRRED
A5 C5 B5
BfASE= AF0 i3 A4 B’
c2 v D4 D1 v Cc4 A2 VI B2
=L D3 SEP AF0RS D2 BE thip B4 xH
ATJ—F (WAL BO—F (L\BLD CI—F (WBLY DO—F (LBLY
= 5% 3 #ER 3l 5% [ HER = 39 E4 HaR = 5% & TSR
RE 25-12 |fom 25-13 |3tH 25-18 | A0 25-10
1 X 25-10 X 25-13 X 25-14 X 25-6
EfE— [N F AF0E
6% 13-25 [Z=H 25-22 |RBAFE= 25-16 | X% 0m 10-25
2 X 15-25 X 25-15 X 25-9 X 10-25
Ep =Tk gzF
ARSI 25-3 IR 25-7 B|9] 25-7 E=li 21-25
3 X 25-5 X 25-10 X 25-10 X 13-25
A6 B0 FaRKERED R SPEH
% 25-15 [ 25-18 | KX*#0 25-15 |RBAE= 25-7
4 X 25-17 X 25-18 X 25-11 X 25-9
B =3 gE Stps
EfhE— 25-8 [FEB 14-25 |F/ 25-21 |k % —JIBRTREE
5 X 25-12 X 20-25 X 25-12 X 24-26
A6 B0 FaRKERED R =
6 X X X X
RB~—F XV 2026578128 (L) 198 () 9 : 1 55EERREB
28 128 () L\BOHDDRTISHEELE « 198 (L) - —=milEHEEE (WBWVEESPU—H)
RN ]
2 1
A3
2 (0] N 16-25 78
25-21
A4 M 5516 B
2 o 25-11 1 2
A1 25-12 A2 ﬁs;&ﬂ%b”ﬁ
78191
25-17 2022 LBL)
25-14 17-25
2 o} 2 0 2 0 6] 2
G3 G4 H4 H3 ; g21@2¥t
25-11 27-25 25-22 9-25 =
25-8 25-23 25-17 19-25 T
1 2 2 o) 2 o) 2 1
G1 G2 H2 H 1
25-18 25-14
25-7 25-18
15-25 20-25
14-25 2513 2516 25-18
A JE3 i X F = i = b S == b4
= H A 70 Bl 2] X 2] & B - 75
JI 2 2 = B

BB —EHIARE N PER
ERE —Ehidt AR
3L —E WL RFIF R
3L — BB AR

EHR3F—LATHRRRSHISEES
SHhONE : —BETEAE=HER



